
TG • Grade 5 • Unit 2 • Daily Practice and Problems

Bikes and Trikes

There are some bicycles and some tricycles in the TIMS warehouse. The
total number of wheels is 35.

1. How many bikes and how many trikes might be in the TIMS
warehouse? (Give several answers to this problem.)

2. What is the fewest number of bikes that can be in the warehouse?
Then how many trikes will there be?

3. What is the fewest number of trikes that can be in the warehouse?
Then how many bikes will there be?

4. If the warehouse has a total of 15 bikes and trikes altogether, how
many of each are in the warehouse?

5. If the number of bikes and trikes is the same, how many of each
are in the warehouse?
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